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�$� �$��+1 %+&$5 ��&�0�1 ��+%+�+ �������"� +�+��6+�� ��$���� 1��1�$8

&1 6+���� �$���+�$����+���# �+��+�$�# �%�0��8#�$���%�&��"� ��&�0�1 ����
�&��*�� �&���56����"�&1 �+ #�,8#+$� ���	 � �%�0��# ���!�&&�� )���+1
%+&$5 ��&�0�1 ��&�1���+ �������# #��7�&$�+#� + �+��+1� �$��+1� %+&$5 

�������#  ���!�1#�
�+��#��# �&������ �0�6�+%���1� ����1$�� � ������ %+&$�� �&���56��$8

&1 &$+��+�$��� �0�6�+%���1�
R

n 
 n8#����� ���&$��$��5��� ���&$�+�&$�����$����8&$��0!��


x = ���{x1, . . . , xn} ≡ {x1, . . . , xn}T ≡







x1
���

xn







&� &�+�1���# ����6�������# (x, y) ≡
n
∑

i=1

xiyi, ���#�� ‖x‖ ≡
√

(x, x) � #�$8
����� ρ(x, y) ≡ ‖x − y‖; 0n ≡ ���{0, . . . , 0} 
 ���5 � R

n; �&�� X ⊂ R
n � $�

◦
X ≡ intX 
 ���$�����&$5 #��7�&$�+ X, X 
 6+#��+��� X, ∂X 
 "�+��!+
X, λX ≡ {y : y = λx, x ∈ X} ∀λ ∈ R; X ± Y ≡ {z : z = x ± y, x ∈ X,
y ∈ Y } 
 +�"�0�+�%�&��� &�##+ � �+6��&$5 #��7�&$� X ⊂ R

n, Y ⊂ R
n;

Uε(x0) ≡ {x : ‖x − x0‖ < ε} 
 ε8����&$��&$5 $�%�� x0
�

R
n, ε > 0; [x0, x1]



�$��6�� ��1#��� &�����1���� $�%�� x0

� x1
�

R
n,

[x0, x1] ≡ {x : x = λx1 + (1 − λ)x0, 0 ≤ λ ≤ 1}.
)���1$� $+�7� ����������� ������������ xλ ≡ λx1 + (1 − λ)x0 (x0 ∈
R

n, x1 ∈ R
n, 0 ≤ λ ≤ 1); Γc,α ≡ {x : (c, x) = α} 
 "�������&��&$5 � R

n

(α ∈ R, c ∈ R
n, c 6= 0n); Γ−

c,α ≡ {x : (c, x) < α}, Γ+
c,α ≡ {x : (c, x) > α} 
�$���$�� �������&$�+�&$�+� �������1�#�� � R

n "�������&��&$5� Γc,α
�

 ��$����� ���+���&$�� x ≤ y ��1 x, y ∈ R
n �6�+%+�$� xi ≤ yi, i = 1, n;+�+��"�%�� ����#+�$&1 ���+���&$�� x ≥ y. R
n
+ ≡ {x ∈ R

n : x ≥ 0n} 
���$��!+$��5��� ��$+�$ �
R

n.��#��+!�1 $����#� ��##� ��&������ ���#���� � ���+7����� � ��&�0��
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�� )�&$5 X 
 ����&$�� �������� #��7�&$�� �
R

n. ����!�1 f(.) : X → R�+6��+�$&1 �������� �� ��������� X, �&�� ��1 ��0�, $�%�� x0 ∈ X, x1 ∈
X �#��#

f(λx1 + (1 − λ)x0) ≤ λf(x1) + (1 − λ)f(x0) ∀λ ∈ (0, 1). !(��"
���+���&$�� !(��" �+6��+�$&1 ������������ ����������� �&�� ������+1
 ���!�1 f(.) : X → R

$+���+� %$� ��1 ��0�, $�%�� x0 ∈ X, x1 ∈ X, x0 6= x1���+���&$�� �������&$� !(��" ������1�$&1 �+� &$��"�� ���+���&$�� ��1 �&�,
λ ∈ (0, 1), $�  ���!�1 f(.) �+6��+�$&1 ������ �������� �� X. �+#�$�#� %$�� &��$��$&$��� & ����������# �����������# ��0+1  ���!�1� 6+�+��+1 �+
����$�%�%��# #��7�&$��� ������+ �+ ��#� 4�1 ������0�+6�1  ��#�����8
��� �+# ���0�� 0���$ &%�$+$5 $+���  ���!�� � &$��"� ��������� ����!�1
f(.) : X → R

�+6��+�$&1 �������� !������ ��������" �������� �� ������
���� X, �&��  ���!�1 (−f(.)) : X → R

������+ !&��$�� &$��"� ������+"
�+ X.��� !"#"$# %%� 4��+7�$�� %$�� �"  ���!�1 f(x) =

n
∑

i=1

|xi| ������+� �� ��

&$��"� ������+ � �� ��"��$+ �+
R

n;
(" ������+1  ���!�1 f(x) =

n
∑

i=1

cixi ��8
����+ � ��"��$+ �+

R
n;
." �&��X ⊂ R

n
 �������� #��7�&$��& + f(.) : X → R
 ���������+1  ���!�1� $� f(.) ������+ �+ X $�"�+ � $��5�� $�"�+� ��"�+
f ((x0 + x1) /2) ≤ (f (x0) + f (x1)) /2 ∀x0, x1 ∈ X;

3" �&�� X ⊂ R
n
 �����8

��� #��7�&$�� & ����&$�� ���$�����&$5�& + f(.) : X → R

 ���������+1

 ���!�1� ������+1 �+
◦
X, $� f(.) ������+ � �+ X.)�&$5 X ⊂ R

n. '������� ������� f(.) : X → R
�+6��+�$&1 #��7�&$��

()f ≡
{{

x
y

}

∈ R
n+1 : x ∈ X, y = f(x)

}

.

*�+��������� ��� ,��������� ������� f(.) : X → R
�+6��+�$&1 #��7�&$��

-./f ≡
{{

x
y

}

∈ R
n+1 : x ∈ X, y ≥ f(x)

}

.

�$� ����������� �������&$�����+�� �+ ��&� �A0 ��1 n = 1.F���I �1� 2������ f(.), ����+������� �� �������� ��������� X, �������� �� X ���+� � ������ ���+�3 ���+� +�� �4��5 ����� A, B ∈ ()f���+���46�� �5 ������� [A, B] �����+����� -./f �
� 7 )�&$5 A =

{

x0

f(x0)

}

, B =

{

x1

f(x1)

}

. �$��6�� [A, B] �#��$ &����8

8%5+6.7
�
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'



 a) 

 1 

 1 

 epi(f)  X=[0,1] 

 f(x)={ 1,x=0; x, 0<x≤1 } 
 x 

 y 

 0 

 b) 

 x
0
  xλ  x
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 B 

 epi(f) 

 Gr(f) 

 x 

 y 

 0 

���� �

���� �+�+#�$��6+!��

[A, B] =

{{

x
y

}

∈ R
n+1 :

x = xλ ≡ λx1 + (1 − λ)x0

y = λf(x1) + (1 − λ)f(x0)
; 0 ≤ λ ≤ 1

}

.

�%������� %$� [A, B] ⊂ -./f $�"�+ � $��5�� $�"�+� ��"�+ f(xλ) ≤ λf(x1) +
(1 − λ)f(x0) ∀λ ∈ [0, 1]. :�����+$��5��� f(.) ������+ �+ X $�"�+ � $��5��
$�"�+� ��"�+ ��1 ��0�, A, B ∈ ()f �#��# [A, B] ⊂ -./f. �/�##+ �? �������&$�����+�+ �+ ��&� �A� ��1 n = 1.F���I ��� 2������ f(.), ����+������� �� �������� ��������� X, �������� �� X ���+� � ������ ���+�3 ���+� ������� ��������� -./f.

� �#�	
��$��
��� )�&$5 f(.) ������+ �+ X. ���&����# ����6���5��

A =

{

x0

y0

}

∈ -./f � B =

{

x1

y1

}

∈ -./f. )��+7�#� %$� �$��6�� [A, B]

����+���7�$ -./f. �$��6�� [A, B] �#��$ �+�+#�$��6+!���

[A, B] =

{{

x
y

}

∈ R
n+1 :

x = xλ ≡ λx1 + (1 − λ)x0

y = yλ ≡ λy1 + (1 − λ)y0
; 0 ≤ λ ≤ 1

}

.

 �65#�# � #��7�&$�� ()f $�%�� A′ =

{

x0

f(x0)

}

� B′ =

{

x1

f(x1)

}

�  &���
��##� �? �$��6�� [A′, B′] ⊂ -./f !&#� ����&$�+!�� �+ ��&� �B0"� �� �$��6��

@



 f(x
0
) 

 fλ 

 y
0
 

 yλ 
 y

1
 

 x
0
  xλ  x

1
 

 A′ 

 B′ 

 A 

 B 

 Gr(f) 

 fλ≡λ f(x
1
)+(1−λ)f(x

0
) 

 x 

 y 

 0 

 a) 

 0 

 Gr(f) 
 epi(f) 

 M
f
(c) 

 c 

 x 

 y 

 b) 
���� �

[A′, B′] �#��$ �+�+#�$��6+!��

[A′, B′] =

{{

x
y

}

∈ R
n+1 :

x = xλ ≡ λx1 + (1 − λ)x0

y = λf(x1) + (1 − λ)f(x0)
; 0 ≤ λ ≤ 1

}

.

D+� �+� yi ≥ f(xi), i = 0, 1, $� yλ ≥ λf(x1) + (1 − λ)f(x0)
�� &�����+$��5���

$�%�+
{

xλ

yλ

}

�$��6�+ [A, B] ����+���7�$ -./f �#�&$� & $�%���
{

xλ

λf(x1) + (1 − λ)f(x0)

}

�$��6�+ [A′, B′]. ��+%�$� [A, B] ⊂ -./f.��
� ���"�
��� )�&$5 -./f 
 �������� #��7�&$��� �$� �6�+%+�$� � %+&$8
��&$�� %$� ��1 ��0�, ���, $�%�� A, B ∈ ()f �$��6�� [A, B] ⊂ -./f.

 &���
��##� �?  ���!�1 f(.) ������+ �+ X. ����H�
G����� 

��
G
I 
��J���� �J
�	��� ���+7����1, (.� (3�(< � ��##� �B ���&+�� ����$���� ���������� �������� � ������ �������5
�������� $� �&$5 ����+!�� �+�  ���!�1#�� �� �����1��� �6 �$�"� ��+&&+���� !"#"$# %�� 4��+7�$�� %$� �&�� fi(.) : X → R, i = 1, m, 
 ��������
 ���!��� + λ i, i = 1, m, 
 ���$��!+$��5��� %�&�+� $� ��#0��+!�1

m
∑

i=1

λ ifi(.)

�&$5 ������+1  ���!�1 �+ X.��� !"#"$# %	� )�&$5 f(.) : X → R

 ������+1  ���!�1 �+ X � 4��+87�$�� %$�� �" ��1 ��0�"�  ��&����+���"� y ∈ R

n  ���!�1 F (x) ≡ f(x + y)

-



������+ �+ #��7�&$�� X − {y}; (" ��1 ��0�"�  ��&����+���"� µ ∈ R,
µ 6= 0  ���!�1 ϕ(x) = f(µx) ������+ �+ #��7�&$�� µ−1X;

." �&�� f(x) ≥ 0
∀x ∈ X, $�  ���!�1 f 2(x) ������+ �+ X.F���I ��� ����� X 
 �������� ��������� �

R
n, Y 
 ������������

���������� f(x, y) : X×Y → R

 �������3 �+���������46�� �������� � +"

∀y ∈ Y ������� f(., y) ������� ��X; 0" ∀x ∈ X �������� F (x) ≡ sup
y∈Y

f(x, y)

�������� ���+� ������� F (x) ������� �� X.
�

4�1 ��0�, x0 ∈ X, x1 ∈ X �#��# ��� λ ∈ [0, 1] �

F (xλ) ≡ sup
y∈Y

f(xλ, y) ≤ sup
y∈Y

{λf(x1, y) + (1 − λ)f(x0, y)} ≤

≤ sup
y∈Y

{λf(x1, y)} + sup
y∈Y

{(1 − λ)f(x0, y)} = λ sup
y∈Y

{f(x1, y)}+

+(1 − λ) sup
y∈Y

{f(x0, y)} = λF (x1) + (1 − λ)F (x0). �

��� !"#"$# %�� 4��+7�$�� %$� � �&����1, ��##� �B �#��$ #�&$� �+���8
&$���

-./F (.) = ∩
y∈Y

-./f(., y).

�6 �$�"� �+���&$�+ � &��� ��## � � �A ��$��+�$ �$���7����� ��##� �B���� !"#"$# %�� 4��+7�$�� %$� �&�� f(.) : X → R

 ������+1 �+ X ���!�1� $� �  ���!�1 f+(x) ≡ max{f(x), 0}, x ∈ X, ������+ �+ X.F���I �� !����������� �������"� ����� f(.) : X → R


 ��������
�������3 � {x1, . . . , xm} 
 ��������� �������� ����� ����� ��������� X.
��� �4��� �������� ���������� m

∑

i=1

λ ixi :

f

(

m
∑

i=1

λ ixi

)

≤
m
∑

i=1

λ if(xi).
!(�("

�
4��+6+$��5&$�� �������# �����!��� �� m. )�� m = 1 ���+���&$��!(�(" �����+�+�$&1 � �+���&$��� + ��� m = 2 ��� �&$5 �%������� &���&$����������&$� f(.). )�������7��� %$� ���+6��+�#�� �$���7����� ����� ���

m = k, ���+7�# �"� ��� m = k + 1. 4�1 �������� ��#0��+!��
k+1
∑

i=1

λ ixi

#�7�$ 0�$5� ��0� λk+1 = 1, $�"�+ λ1 = . . . = λk = 0 � ���+���&$�� !(�("$����+�5�� ������1�$&1# ��0� λk+1 < 1.
 ��&�����# &��%+� �#��# � &���

&��+�������&$� !(�(" ��� m = 2 � m = k :

f

(

m
∑

i=1

λ ixi

)

≡ f

(

λk+1xk+1 + (1 − λk+1)
k
∑

i=1

λ i

(1 − λk+1)
xi

)

≤

	



≤ λk+1f(xk+1) + (1 − λk+1)f

(

k
∑

i=1

λ i

(1 − λk+1)
xi

)

≤

≤ λk+1f(xk+1) + (1 − λk+1)

k
∑

i=1

λ i

(1 − λk+1)
f(xi) =

k+1
∑

i=1

λ if(xi). �

4�1  ���!�� f(.) : X → R
��0�� #��7�&$�� ���+

Mf(c) ≡ {x ∈ X : f(x) ≤ c},
"�� c ∈ R, �+6��+�$&1 ���������� ������ !&#� ��&� �B�"�
F���I ��� ��� ��������� ������ �������� ������� ����������� !"#"$# %�� 4��+7�$� ��##� (����� !"#"$# %�� )�&$5

P

 �������� #��7�&$�� �

R
n, gi(.) : P → R



�������� �+

P
 ���!��� i ∈ I, I 
 ����6���5��� #��7�&$��� 4��+7�$�� %$�

X ≡ {x ∈ R
n : x ∈ P, gi(x) ≤ 0, i ∈ I} ���������� F���I �� ��
���H
�� 
���
���� )�&$5 f(.) : X → R


 ����$��+1
 ���!�1� ����������+1 �+ �������# #��7�&$��X ⊂ R

n, +Xx0,`

 ����$����

����&$�� ����#����� &�%���� X. �0�6�+%�# %���6 [f ]x0,`(.)
 ���!�� ����"�

����#����"�� ������������ �+ &��$��$&$�����# #��7�&$�� Ax0,`
!&#� ���( �

��"  ��#����
[f ]x0,`(t) ≡ f(x0 + t`), t ∈ Ax0,`.����&���&$����� �6 ����������� ��� ��$��+�$

F���I ��� ���+�46�� ������+���� ,������������
�" f(.) ������� 	������ �������
 �� X;(" f(.) ������� 	������ �������
 �� �4��� �������� �+�������� �����

��� Xx0,`;." [f ]x0,`(.)
������� 	������ �������
 �� ���������Ax0,`

+�� �4��5 x0 ∈
X, ` ∈ R

n, ` 6= 0n.��� !"#"$# %�� 4��+7�$� ��##� ((�
�� �����H�
	�HJ���
G
 
��J���� �J
�	�� �� 
�����
�� 
I��HI
��
���� )�&$5X ⊂ R

n, f(.) : X → R. �&�� ` ∈ R
n 
 ���$�� ��6#�78

��"� ��1 X � ����$���� $�%�� x0 ∈ X �+��+�����1 (` ∈ K(x0, X), &#� ���. ���"� $� �#��$ &#�&� "�����$5 � �������+��� ������� f(.) �� ������� `.
�$+

����6����+1� �+��#��#� �������1�$&1 &��$��*����#

∂f(x0)

∂`
≡ lim

t→+0

f(x0 + t`) − f(x0)

t
, !(�."

�&�� ������ &��+�+ &���&$���$ !����%��� ��� ��$"� � )�� ` = 0n
������

&��+�+ �  ��#��� !(�." &���&$���$ � �+��� ����� )��$�#� &%�$+�#� %$� ���
` = 0n

����6����+1 ∂f(x0)�∂` �+��+ �����
��+-.�5*� 2+7='B 62. -8.*/>.&5+3 -. '&*5*65.�0 >'72.80 ` 5+/9>+'2(3 ����������� �� ���������� E

2



���H��I 1� ���� ������� f(.) ������� �� X, �� +�� �4���� x0 ∈ X �
�4���� ������� ` ∈ K(x0, X) ��6������� �������� ��� ������ −∞ ��������+��� ∂f(x0)/∂`.

�
4�&$+$�%�� �+&&#�$��$5 &��%+� ` ∈ K(x0, X), ` 6= 0n. �+#�$�#� %$�#��7�&$�� Ax0,`

!&#� ���( � ��" &����7�$ ����$���� �$��6�� [0, ε ] � ε > 0 !&#����. � ��� ���+7����� (C"� )���7�# ��1 &���+����1 6+��&� Φ(t) ≡ [f ]x0,`(t),
t ∈ Ax0,`.

 &��� ��##� ((  ���!�1 Φ(t) ������+ �+ Ax0,`.
D����#+ 0���$

���+6+�+� �&�� #� ���+7�#� %$�  ���!�1

ψ(t) ≡ Φ(t) − Φ(0)

t
≡ f(x0 + t`) − f(x0)

t
, t ∈ (0, ε ],

�#��$ ��� t → +0 ����%��� ��� �+���� −∞ ������� 4�1 �$�"� ��&$+$�%��
���+6+$5� %$� ψ(t) #���$���� �0��+�$ ��� t → +0.

���&����# ����6���5�� t1, t2 ∈ (0, ε ], t1 < t2. ��7�� 6+��&+$5 t1 =
λt2 + (1 − λ) · 0, �61� λ = t1/t2.

�6 �������&$� Φ(t) &�����$� %$�

Φ(t1) ≤ λΦ(t2) + (1 − λ)Φ(0)

���
Φ(t1) − Φ(0) ≤ λ [Φ(t2) − Φ(0)] ,

�$���+ ����%+�#
ψ(t1) ≤ ψ(t2).

����$����� �0��+��� ψ(t) ��� t → +0 ���+6+�������#�$��%�&��� &#�&� ����������"� ���+6+$��5&$�+ ����&$�����$&1 �+
��&� (C0� :������+1 $����#+ �$�%�1�$ $����#� ?�
���H��I �� ���� f(.) ������� �� X, �� +�� �4��� ����� x0 ∈

◦
X � �4�

���� ������� ` ∈ R
n, ` 6= 0n

��6������� �������� �������+��� ∂f(x0)/∂`.
�

 �&���56��#&1 �0�6�+%���1#� ���������"� ���+6+$��5&$�+�4��+7�#�
%$� $����5 ψ(t) �� $��5�� #���$���� �0��+�$ ��� t → +0, �� � �"�+��%��+&��6�� �$&��+ 0���$ &�����+$5� %$� lim

t→+0
ψ(t) ����%�� �� &�����+$��5��� &�8

��&$���$ ����%�+1 ����6����+1 ∂f(x0)/∂`.
 �+���# &��%+� Ax0,`

&����7�$
����&$��&$5 (−ε, ε) $�%�� t = 0 !&#� ���. � ��� ���+7����� (C"� ���&����#����6���5�� t1 ∈ (−ε, 0) � t2 ∈ (0, ε). �+&&#+$���+1 t = 0 �+� ����������#0��+!�� t1

� t2,
6+��*�#

0 = λt1 + (1 − λ)t2,
"�� λ =

t2
t2 − t1

, (1 − λ) = − t1
t2 − t1

.

�6 �������&$� Φ(·) ����%+�#

Φ(0) ≤ λΦ(t1) + (1 − λ)Φ(t2),

;�



 t
1
  t

2
 

 γ
1
 

 γ
2
 

 y=φ(t) 

 φ(0) 

 ψ(t
i
)=tg(γ

i
) 

 γ
1
≤γ

2
 

 t 

 y 

 0 

 a) 

 0  t
1
  t

2
 

 γ
1
 

 γ
2
 

 y=φ(t) 

 φ(0) 

 ψ(t
i
)=tg(γ

i
) 

 γ
1
≤γ

2
 

 t 

 y 

 b) 
���� �

%$� �+�$
(1 − λ) [Φ(t2) − Φ(0)] ≥ λ [Φ(0)− Φ(t1)]

�� &�����+$��5���

ψ(t2) ≡
Φ(t2) − Φ(0)

t2
≥ Φ(0) − Φ(t1)

−t1
=

Φ(t1) − Φ(0)

t1
.

�$+�� ���  ��&����+���# t1 < 0

∀t2 ∈ (0, ε) : ψ(t2) ≥ const ≡ Φ(t1) − Φ(0)

t1
. �

���#�$��%�&��� &#�&� ���+6+$��5&$�+ $����#� A ���+6+� �+ ��&� (C��
)��&$�� ���#��� &�������"� ��7� ���+7����1 .C ���+6��+�$� %$� ��1
��������  ���!�� f (·) : X → R

����6������ �� ��6#�7��# �+��+���8
��1# � "�+��%��, $�%�+, #��7�&$�+ X ���&$��$��5�� #�"�$ �0�+�+$5&1 �
−∞ .��� !"#"$# ��� )�&$5 n = 1, X = [0, 1].

�" 4��+7�$�� %$� ` = −1 �&$5��6#�7��� ��1 X �+��+������ � $�%�� x = 1.
(" 4��+7�$�� %$� �+6����+1

 ���!�1

f(x) ≡
{

0, 0 ≤ x < 1;
2, x = 1

������+ �+ X. )�����5$�� %$� ∂f(1)/∂` = −∞.
." D� 7� &+#�� ��1 �����8

������ �+ X  ���!�� f (x) ≡ 1−
√

1 − x2, 0 ≤ x ≤ 1.�� �
��
G
� 
��H�H�

�
G� 
��J���� �J
�	��� =+� ���+6��+�$
���#�� �6 ���+7����1 .C�  ���!�1 #�7�$ $����$5 �+6��� �+ "�+��!� $�"�

;;



 α
2
(δ)  α

1
(δ) 

 α
4
(δ)  α

3
(δ) 

 l
2
  l

1
 

 l
4
  l

3
 

 1 

 1 

 −1 

 −1  x1 

 x2 

���� �
#��7�&$�+� �+ ��$���# ��+ ������+� ��+6��+�$&1� ���$�� �$�"� #��7�&$�+
 ���!�1 �016+$��5�� ���������+�
���H��I �� �����X ⊂ R

n � �������� �������� ���������� ��������
�� X ������� f(.) ���������� � �4��� ����� x0,

���������� +�� ������
���� X.

�
D+� �+� &���" �� �+��*+�$ �������&$� #��7�&$�+� $� 0�6 �"�+��%���1

�0���&$� &%�$+�# x0 = 0n.
)�&$5 Hδ ≡ {x ∈ R

n : |xi| ≤ δ, i = 1, n} 
6+#���$+1 ��0�%�&�+1 ����&$��&$5 0n.
D+� �+� x0 = 0n


 ���$����11 $�%�+
X, $� &���&$���$ δ > 0 $+���� %$� Hδ ⊂ X ∀δ ∈ (0, δ). 4�&$+$�%�� ���+6+$5�%$�

∀ε > 0 ∃δ(ε) > 0 : |f(x) − f(0n)| < ε , �&�� x ∈ Hδ(ε).
!(�3"

 �&���56��#&1 $����#�� � ����&$+������ �������"� ��#�+�$+ !��A � ���
$����#+ 9"� ���#���� �� � ��#�+�$� Hδ.

	"����#� ��1Hδ
1��1�$&1 !&#� ���.

� ��� ���+7����� (�" $� � $��5�� $� $�%��� ��1 ��$���, |xi| = δ, i = 1, n.��+%� "����1� �$� �&� $� $�%��� �+7�+1 �6 ��$���, ��7�$ �+ ����&�%����
"�+��!� ∂Hδ

& ����# �6 ��%��� ��,��1��, �6 $�%�� 0n
� �+��+������ ���8

$��+ `, ������$���1���"� �&����� |`i| = 1, i = 1, n. ���7�&$�� $+��, ��"��8��,��+��+������ �� 6+��&�$ �$ ����%��� δ, + %�&�� �, �+���m ≡ 2n, %�&���"����, $�%�� n8#����"� ��0+� =+��#8��0� �0�+6�# �����#����# ��+6+�������$���� `1, . . . , `m. )�&$5 Li ≡ {x ∈ R
n : x = t`i, t ≥ 0} 
 ��%� ��,��1����6 $�%�� 0n

� �+��+������ `i, i = 1, m.
	"����� $�%�� ��0+Hδ,

��7+��� �+
��%� Li � �0�6�+%�# a

(δ)
i , i = 1, m !&#� ��&� (� ��1 n = 2).4�1 ���+6+$��5&$�+ !(�3"  ��&����# ε > 0.

 &��� $����#� A ��1 ��0�"�
i = 1, m &���&$���$ ����%�+1 ����6����+1 ∂f(0n)/∂`i.

)��$�#� &�7���� f(.)

;E



�+ ��0�� ��% Li, i = 1, m, ���������� � $�%�� 0n.
�$� �6�+%+�$� %$� &���8

&$���$ δ(ε) > 0 $+���� %$�

|f(a
(δ)
i ) − f(0n)| < ε, 0 < δ ≤ δ(ε), i = 1, m. !(�9"

)��+7�#� %$� %�&�� δ(ε) 
 �&��#��� $� �&$5 |f(x)− f(0n)| < ε ��� x ∈ Hδ(ε).)���6���5��  ��&����# x ∈ Hδ(ε)
� ��0�� δ ∈ (0, δ(ε)] $+���� %$� x ∈ Hδ.)� $����#� 9 �+���$&1 %�&�+ λ i ≥ 0, i = 1, m, $+���� %$�

x =
m
∑

i=1

λ ia
(δ)
i ,

m
∑

i=1

λ i = 1.

)� ���+���&$�� ���&��+

f(x) ≤
m
∑

i=1

λ if
(

a
(δ)
i

)

���

f(x) − f(0n) ≤
m
∑

i=1

λ i

{

f
(

a
(δ)
i

)

− f(0n)
}

. !(�<"

 &��� !(�<" � !(�9"

f(x)− f(0n) <
m
∑

i=1

λ i ε = ε. !(�?"

�� ��0 Hδ(ε)
&�##�$��%�� �$��&�$��5�� $�%�� 0n

�� &�����+$��5���

f(−x)− f(0n) < ε. !(�A"
D+� �+� 0n = 1

2x + 1
2 (−x) , $� �6 ���+���&$�+ �������&$� ����%+�#

f(0n) ≤
1

2
f(x) +

1

2
f(−x)

�
f(0n) − f(x) ≤ f(−x) − f(0n).

!(�B"
���+���&$�+ !(�?"� !(�A"� !(�B" �+�$�

|f(x) − f(0n)| = max {f(x) − f(0n), f(0n) − f(x)} < ε . �

�� �H�G�H�� 
��J���
G� 
 ��I

� �����H�
	�HJ���� �J
�	��
��
�� ��H���

��� !:#� �3�� "���� �3� ��." )�&$5  ���!�1 f(.) ���������+�+ ���#�7�$��� X ⊂ R

��������� ������
��+-.�5*�B 62. -8.�'=02.7 ; �2. .28'/.7B *52'8>+, *,* -.,0*52'8>+, �*52'8>+, * -.,0*52'8>+, 5'.@3/+2',)5. 7.5'659�E

;>



 x
0
  xλ  x

1
 

 γ
1
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2
 

 y=f(x) 

 x 

 y 

 0 

 a) 

 0 

 y=f(x
0
)+f′(x

0
)(x−x

0
) 

 x
0
  x

1
 

 y=f(x) 

 f(x
1
) 

 x 

 y 

 b) 
���� �

F���I ������ ����3 ����� f(.) ���� ������� 	������ �������
 �� X �
����5�+��� � +���������3 �����

f(xλ) − f(x0)

xλ − x0
≤ (&��$��<)

f(x1) − f(xλ)

x1 − xλ
∀ x0, x1 ∈ X, x0 < x1, λ ∈ (0, 1).

!(��C"
�

����������� �������&$� !&��$�� &$��"�� �������&$�" f(.) #�7�� 6+8��&+$5 � �����

{f(xλ) − f(x0)} (1 − λ) ≤ (&��$��<) λ {f(x1) − f(xλ)}
∀ x0, x1 ∈ X, x0 6= x1, λ ∈ (0, 1).

!(���"

�6  ��#��� xλ = λx1 + (1 − λ)x0
�#��#�

λ =
xλ − x0

x1 − x0
, 1 − λ =

x1 − xλ

x1 − x0
. !(��("

�6 !(���" � !(��(" ����%+�# !(��C"�
����#�$��%�&��� &#�&� ��##� (. 1&�� �6 ��&� ((0� ��γ1 ≤ (&��$��<)��γ2.)�&$5 $����5 f (.) ��  ����!����#+ �+ ���#�7�$�� X � �F���I ��� ��� ����3 ����� f(.) ���� �������� 	������ ��������
 ��

X, ����5�+��� � +���������3 ����� �������+��� f ′(.) �� ������� 	&��$��
������ ����������
 �� X.
��*��'8'5�*80'�.(2) > 78+95'9 2.67' ./5+6+'2 (04'(2>.>+5*' (..2>'2(2>014'9 .&5.(2.8.55'9 -8.D*/>.&5.9E

;�



� �#�	
��$��
��� 	&$��#�11 xλ
&�+%+�+ � x0 � + 6+$�# � x1 � ����%+�# �6!(��C" ������� ���+���&$��

f ′(x0) ≤
f(x1) − f(x0)

x1 − x0
≤ f ′(x1) ∀x0, x1 ∈ X, x0 < x1,

!(��."

�6�+%+���� #���$����&$5 ����6������ �+X.
 &��%+� &$��"� �������� f(.)6+ ��&����# ����$���� x0, x1 ∈ X, x0 < x1, λ ∈ (0, 1). )� $����#� /+"�+�7+� ����%��, ����+����1, &���&$���$ $+��� ξ1 ∈ (x0, xλ)

� ξ2 ∈ (xλ, x1),
%$�

f(xλ) − f(x0)

xλ − x0
= f ′(ξ1),

f(x1) − f(xλ)

x1 − xλ
= f ′(ξ2).

!(��3"

 &��� !(��C"� f ′(ξ1) < f ′(ξ2).
4��+6+��+1 ��*� #���$����&$5 f ′(.) �+�$��6#�7��&$5 �+��&+$5

f ′(x0) ≤ f ′(ξ1) < f ′(ξ2) ≤ f ′(x1).
!(��9"

 ���� ����6���5��&$� ��0��+ x0, x1
���+���&$�� !(��9" �6�+%+�$ &$��"��

#���$����&$5 f ′(.) �+ X.��
� ���"�
��� ���&����# ����6���5�� x0, x1 ∈ X, x0 < x1, xλ ∈ (x0, x1).:���&$���$ ξ1 ∈ (x0, xλ)
� ξ2 ∈ (xλ, x1),

��1 ��$���, ������1�$&1 �+���8
&$�+ !(��3"� �&�� f ′(.) �� �0��+�$ !&$��"� ��6�+&$+�$" �+ X, $�

f ′(ξ1) ≤ ( &��$��<) f ′(ξ2),

%$� �#�&$� & !(��9" �+�$ !(��C"�
�F���I ��� ��� ����3 ����� f(.) ���� �������� 	������ ��������
 ��

X, ����5�+��� � +���������3 ����� +�� ���5 x0, x1 ∈ X, x0 6= x1
��������

���� �����������
f(x1) ≥ ( &��$��>) f(x0) + f ′(x0)(x1 − x0).

!(��<"

� �#�	
��$��
��� ���&����# ����6���5�� x0, x1 ∈ X, x0 < x1. �+&&#�$8��# !(��C"� )������# � ������� � !(��C" ��� xλ → x0 + 0 � /��+1 %+&$5 !(��C"&$��#�$&1 � f ′(x0) � + ��+�+1 
 � �$��*���� {f(x1)− f(x0)}/(x1 − x0),
��$�8

��� �� $����#� /+"�+�7+ �+��� ����$���#� 6�+%���� f ′(ξ), "�� ξ ∈ (x0, x1).4�1 �������� !&$��"� ��������" f(.) & �%�$�# ��##� (3 �#��#

f ′(x0) ≤ ( &��$��<) f ′(ξ) = {f(x1) − f(x0)}/(x1 − x0),

%$� �+�$ !(��<" ��� x1 > x0.
 &��%+� x1 < x0

$�# 7� �+&&�7�����# �����#
� !(��<"� ��#��1� � !(��C" x1

� x0
#�&$+#��

��
� ���"�
��� ���&����# ����6���5�� x0, x1 ∈ X, x0 < x1, xλ ∈ (x0, x1).
�+#���� � !(��<" x0

�+ xλ,
����%�#

f(x1) ≥ ( &��$��>) f(xλ) + f ′(xλ)(x1 − xλ),

;'



%$� #�7�� ������&+$5 �+�

f ′(xλ) ≤ ( &��$��<)
f(x1) − f(xλ)

x1 − xλ
. !(��?"

�+#���� � !(��<" x1
�+ x0 � + x0


 �+ xλ � ����%�#

f(x0) ≥ ( &��$��>) f(xλ) + f ′(xλ)(x0 − xλ),

%$� ������*�# � ����

f ′(xλ) ≥ ( &��$��>)
f(x0) − f(xλ)

x0 − xλ
≡ f(xλ) − f(x0)

xλ − x0
. !(��A"

�6 !(��?" � !(��A" &�����$ !(��C"�
����#�$��%�&��� &#�&� ��##� (9 &�&$��$ � $�#� %$� f(.) ������+ !&$��"�������+" �+ X $�"�+ � $��5�� $�"�+� ��"�+ "�+ ��  ���!�� f(.) : X → R�&�#� &���#� $�%�+#�� ���#� $�%�� �+&+��1� ��7�$ �� ��7� !&��$�� &$��"�

��*�" ��0�� ����������� � ��#� �+&+$��5��� !&#� ��&� ((�"� /�##+ �0 ��8
��#����, &�%���1, ��6����$ �+# �0�0��$5 ��6��5$+$ ��##� (9 �+ &��%+�
 ���!�� ��&���5��, ����#����, !&#� ��7� ��A"�1� �H�G�H�� 
��J���
G� 
 ��I

� �
I��� �����H�
	�HJ�����J
�	�� ��
�� ��H���

��� !:#� �3�� "���� �3� ��." )�&$5 $����5  ���!�1
f(.) ��+7�� ��  ����!����#+ �+ ���#�7�$�� X ⊂ R

��������� ����� � �
����&���&$����� �6 ��##� (3 ����%+�# &�������� ��6��5$+$��
F���I ��� ��� ����3 ����� f(.) ���� ������� �� X, ����5�+��� �+���������3 ����� +�� ���5 x ∈ X ���� f ′′(x) ≥ 0.F���I �1� ���� f ′′(x) > 0 ��1 �&�, x ∈ X, �� f(.) ������ ������� ��

X./�##+ �0 ����#����, &�%���1, ��6����$ �+# �0�0��$5 ��6��5$+$� ��##
(<� (? �+ &��%+�  ���!�� ��&���5��, ����#����, !&#� ��7� ��B"��� �H�G�H�� 
��J���
G� 
 ��I

� �����H�
	�HJ���� �J
�	��

�
���
��� ��H���

��� �+��#��#� %$� "�+����$  ���!�� f(x) ���$��8��"� +�"�#��$+ x ∈ R

n �$� &�&$�1�+1 �6 %+&$��, ����6�����, ���$��8&$���+

∇f(x) ≡ (f ′
x1(x), f ′

x2(x), . . . , f ′
xn(x)) .

)�&$5 X ⊂ R
n 
 �������� #��7�&$��� &�&$�1��� 0���� %�# �6 ����� $�%���

�  ���!�1 f(.) ��  ����!����#+ �+ #��7�&$�� X
��

��. '(2) �057�*3 f (.) &>+=&9 &*��'8'5�*80'�+ > 7+=&.9 2.67' -8.�'=027+X.
�>+=&9 &*��'8'5D

�*80'�.(2) > 78+95'9 2.67' ./5+6+'2 (04'(2>.>+5*' -'8>.9 * >2.8.9 (..2>'2(2>014*C .&5.(2.8.55*C
-8.*/>.&59CE��. '(2) �057�*3 f (.) &*��'8'5�*80'�+ > 7+=&.9 2.67' �5.='(2>+X. �2(1&+ (,'&0'2B 62. �057�*3
f (.) .-8'&','5+ > 5'7.2.8.9 .78'(25.(2* 7+=&.9 2.67* �5.='(2>+ X.

;@



���H��I ��� ��� ����3 ����� f(.) ���� ������� 	������ �������
 ��
X, ����5�+��� � +���������3 ����� ����������� �����������

f(x1) ≥ ( &��$��>) f(x0) + ∇f(x0)(x1 − x0)
∀ x0, x1 ∈ X, x0 6= x1.

!(��B"

�
)� ��##� ((  ���!�1 f(.) ������+ !&$��"� ������+" �+ X $�"�+ �

$��5�� $�"�+� ��"�+ ��1 �&�, x ∈ X, ` ∈ R
n, ` 6= 0n,

������+ !&��$�� &$��"�
������+" �+ Ax,`

 ���!�1 [f ]x,`(.)
�  �+&&#+$���+�#�# &��%+� [f ]x,`(.)

�� 8
 ����!����#+ � $�%�+, #��7�&$�+ Ax,`,

���%�#

{[f ]x,`(t)}′t ≡ {f(x + t`)}′t = ∇f(x + t`)`, t ∈ Ax,`.

D+� �+� �+ ����$�%�%��# #��7�&$�� ��0+1  ���!�1 &$��"� ������+� $� �
&��� ��##� (9  ���!�1 f(.) ������+ !&��$�� &$��"� ������+" �+ X $�"�+ �
$��5�� $�"�+� ��"�+ ������1�$&1 �&������ ��1 ��0�"� #��7�&$�+Ax,`

������
0��5*�� ���1� �#��#�

[f ]x,`(t1) ≥ (&��$��>) [f ]x,`(t0) + {[f ]x,`}′t (t0) · (t1 − t0)
∀ t0, t1 ∈ Ax,`, t0 6= t1,

���� %$� ���� � $� 7��

f(x + t1`) ≥ (&��$��>) f(x + t0`) + ∇f(x + t0`)(t1` − t0`)
∀ t0, t1 ∈ Ax,`, t0 6= t1.

)�&������ �&����� #�7�� ������&+$5 � �����

��1 ��0�"� &�%���1 Xx,`
��������� ����� �#��#�

f(x1) ≥ (&��$��>) f(x0) + ∇f(x0)(x1 − x0),�&�� x0, x1 ∈ Xx,`, x0 6= x1.







!(�(C"

D+� �+� ��0�� ��� $�%�� x0, x1 ∈ X ���+�+�$ �+ ����$���� &�%���� Xx,`,
$�

!(�(C" �����+���$�� !(��B"�
��� �H�G�H�� 
��J���
G� 
 ��I

� �
I��� �����H�
	�HJ�����J
�	�� 
�
���
��� ��H���

��� �+# ��$��0��$&1 ���1$�� ����7�8

$��5��� �����������&$� #+$��!� )�&$5 A 
 &�##�$��%�+1 (n × n)8#+$��!+�
�+$��!+ A �+6��+�$&1 �������������� !������������" ����+�������� �&8
��

(Aξ, ξ) ≥ 0 ( &��$�� (Aξ, ξ) > 0 ) ∀ξ ∈ R
n, ξ 6= 0n.

!(�(�"

�+#�$�#� %$� � ����������# ����������� &$���� !(�(�" #�7�� 6+#���$5 ��8���+���$��� &$�����

(Aξ, ξ) ≥ 0 ( &��$�� (Aξ, ξ) > 0 ) ∀ξ ∈ R
n, ‖ξ‖ = 1. !(�(("

;-



D�$  +�$� %$� #+$��!+ A 1��1�$&1 ���$��!+$��5�� !����7�$��5��" ������8
������� 0���# �0�6�+%+$5 ���+���&$��# A ≥ 0 ( &��$�� A > 0). : ��#�8�����# ���0��� ���$���� ����7�$��5��� �����������&$�� �&���56�����
���1$�� "�+���"� #����+ #+$��!�� ����� #+$��!� A �+6��+�$&1 �������
�������� �&�� #��7�&$�� ��#���� &$��� #+$��!� A, &����7+��, ���#��$��+���"� #����+� &���+�+�$ & #��7�&$��# ��#���� &$��0!��� &����7+��, �"�
���#��$�� ��+���� #���� �+6��+�$&1 ��+�6�� ������� ������� ��� ���
����� �������� �&�� ��+6+���� #��7�&$�� ��#���� �#��$ ��� {1, 2, . . . , k} �"�� k ≤ n.F���I �� !�������� ����������� &#� �<�� "���C� �3"�
{A ≥ 0} ⇔ { ��� ������� ������ A �������������� };
{A > 0} ⇔ { ��� ��+�6�� ������� ������ A ������������ }.)�&$5 X ⊂ R

n 
 �������� #��7�&$�� �  ���!�1 f(.) ��+7�� ��  �8���!����#+ �+ X
� �  �$�# &��%+� #+$��!+ �$���, ����6�����, !�������

'���� ��� �������"  ���!�� f(.)

∇2f(x) ≡











f ′′
x1x1(x) f ′′

x1x2(x) . . . f ′′
x1xn(x)

f ′′
x2x1(x) f ′′

x2x2(x) . . . f ′′
x2xn(x)

. . . . . . . . . . . .
f ′′

xnx1(x) f ′′
xnx2(x) . . . f ′′

xnxn(x)











��� �&�, x ∈ X &�##�$��%�+ � �
���H��I ��� ���� X �������3 �� +�� ����3 ����� ������� f(.) ����� ������� �� ��������� X, ����5�+��� � +���������3 ����� �������

∇2f(x) ���� �������������� ����+������� +�� ���5 x ∈ X .
�

 &��� ��##� �0 ����#����, &�%���1,� {f(.) ������+ �+ X} ⇔
⇔ { [f ]x0,`(.)

������+ �+ Ax0,` ∀x0 ∈ X, ∀` ∈ R
n, ` 6= 0n}.

��  ���!�1 [f ]x0,`(.)
��+7�� ��  ����!����#+ � $�%�+, #��7�&$�+ Ax0,`,��$���� � &��� �������&$�X �&$5 ���#�7�$��� )� ��##� (<� �&��Ax0,`

�#��$
����� 0��5*�� ���1� $�

{[f ]x0,`(.)
������+ �+ Ax0,`} ⇔ {{[f ]x0,`(t)}′′tt ≥ 0, t ∈ Ax0,`} .

 &��� �$���$�&$� X ���#�7�$�� Ax0,`
�#��$ ��������� ����� ��� ��0�,

x0 ∈ X, ` ∈ R
n, ` 6= 0n.

/�"�� ������1�$&1� %$�

{[f ]x0,`(t)}′′tt ≡ {f(x0 + t`)}′′tt =
(

∇2f(x0 + t`)`, `
)

, t ∈ Ax0,`.
!(�(."

��. '(2) �057�*3 f (.) &>+=&9 &*��'8'5�*80'�+ > 7+=&.9 2.67' �5.='(2>+ X. �2(1&+ (,'&0'2B 62.
f (.) .-8'&','5+ * &*��'8'5�*80'�+ > 5'7.2.8.9 .78'(25.(2* 7+=&.9 2.67* �5.='(2>+ X.��+-.�5*� �(�EB 5+-8*�'8B ���B 2'.8'�9 
�E
�B 
�E
��: '(,* �057�*3 f (·) , .-8'&','55+3 > .78'(25.(2*2.67* x ∈ R

n, &>+=&9 &*��'8'5�*80'�+ > 2.67' x �.2(1&+ (,'&0'2B 62. .5+ .&*5 8+/ &*��'8'5�*80'�+> 5'7.2.8.9 .78'(25.(2* x�B 2. &,3 7+=&.9 -+89 6*(', i, j ∈ {1, 2, . . . , n} -8.*/>.&59' ∂2f/∂xi∂xj *
∂2f/∂xj∂xi > 2.67' x (.>-+&+12E �2. /5+6*2B 62. �+28*�+ >2.89C -8.*/>.&59C 52f (x) (*��'28*65+E

;	



:�����+$��5��� f(.) ������+ �+ X $�"�+ � $��5�� $�"�+� ��"�+
(

∇2f(x0 + t`)`, `
)

≥ 0 ∀t ∈ Ax0,`
��� ��0�, x0 ∈ X, ` ∈ R

n, ` 6= 0n.
!(�(3"

 61� � !(�(3" t = 0, ����%+�#
(

∇2f(x0)`, `
)

≥ 0 ��� ��0�, x0 ∈ X, ` ∈ R
n, ` 6= 0n

%$� #�7�� 6+��&+$5 � �����∇2f(x0) ≥ 0 ��� ��0�, x0 ∈ X. ���� !"#"$# ��� �" )�����5$�  ��#��� !(�(."� (" )��+7�$�� %$� �&��8
��� �$���$�&$� #��7�&$�+ X � $����#� �� &���&$������ �+&&#�$��$� ���8#��� n = 2, X =

{

x ∈ R
2 : x1 = x2

}

,  ���!�1 ���������+ �+ R
2  ��#����

f (x) ≡ x1x2.�&���56�1 ��##� (?� ��"�� ���+6+$5 &�������� ��&$+$�%��� �&����� &$��8
"�� �������&$��
���H��I ��� ���� �������∇2f(x) �������� ������������ ����+�����

��� ��� ���5 x ∈ X, �� ������� f(.) ������ ������� �� X.��� !"#"$# �%� �" 4��+7�$� $����#� �(� (" )�&$5 X ⊂ R
n 
 �����8

��� #��7�&$�� & ����&$�� ���$�����&$5�� +  ���!�1 f(.) ���������+ �+

X � ��+7�� ��  ����!����#+ �+ ◦
X. 4��+7�$�� %$� $�"�+ �&����� �����8

��&$� f(.) �+ X �����+���$�� �&�����
{

∇2f(x) ≥ 0 ∀x ∈
◦
X

}

, + �&�����
{

∇2f(x) > 0 ∀x ∈
◦
X

}

��&$+$�%�� ��1 &$��"�� �������&$� f(.) �+ X. !:#�
���+7����� ((� ���� ."� 3"�"��� !"#"$# ��� )�����5$� �+ �������&$5 � &$��"�� �������&$5 �+ ��+8
6+���, #��7�&$�+, X &��������  ���!���
�" f(x) = x2, X = R;

(" f(x) = exp(x), X = R;
." f(x) = − lnx, X =

{x ∈ R : x > 0}; 3" f(x) = x4, X = R;
9" f(x) = (x1)2 + x1x2 + (x2)2,

X = R
2;
<" f(x) = (x1)2 − (x2)2, X = R

2;
?" f(x) =

√

(x1)2 + (x2)2, X = R
2;A" f(x) = ‖x‖, X = R

n;
B" f(x) =

√

1 + (x1)2 + (x2)2, X = R
2.��� !"#"$# �	� )�&$5A 
 &�##�$��%�+1 (n×n)8#+$��!+�f(x) = 1

2(Ax, x),
x ∈ R

n, 
 &�##�$��%�+1 ��+��+$�%�+1  ��#+ n ����#����, !�+��#��#� %$�� $+��#� ���� #�7�$ 0�$5 ��������+ ��0+1 ��+��+$�%�+1  ��#+ n ����8
#����,"� �" 4��+7�$�� %$� ∇f(x) ≡ Ax, ∇2f(x) ≡ A.

(" 4��+7�$�� %$� f(.)������+ �+
R

n $�"�+ � $��5�� $�"�+� ��"�+ A ≥ 0.
." 4��+7�$�� %$� f(.)&$��"� ������+ �+

R
n $�"�+ � $��5�� $�"�+� ��"�+ A > 0.��� ����� ��
��J�I 
��J���� �J
�	��� )�&$5X ⊂ R

n 
 ����&$��
�������� #��7�&$��� f(.) : X → R


 ������+1  ���!�1� �0�6�+%�# %���6
X∗

#��7�&$�� $�%�� "��0+�5��"� #���#�#+ � 6+�+%� #���#�6+!�� f(.) �+
X, $� �&$5 #��7�&$�� �&�, $�, $�%�� x ∈ X, ��1 �+7��� �6 ��$���,

f(x) = min
x∈X

f(x).

;2



���H��I ��� �" ��������� X∗
�������� (" ������ ����� ����������

�������� ������� f(.) �� ��������� X �������� � �� ������ ��������
���� �������� �� X, �� ���� �����+����� ��������� X∗.

�
�" :��%+� ��&$�"� � ����$�%�%��"� X∗

$����+�5��� )�&$5 X∗
&�&$��$

0���� %�# �6 ����� $�%��� + x0, x1

 ��� �+6��%��� $�%�� �6 X∗.

 &���
�������&$� X $�%�+ xλ ≡ λx1 + (1 − λ)x0 ∈ X ∀λ ∈ [0, 1].

 ������&$5 f(.)�+�$ ∀λ ∈ [0, 1]

f(xλ) ≤ λf(x1) + (1 − λ)f(x0) ≡ λ min
x∈X

f(x) + (1 − λ) min
x∈X

f(x) = min
x∈X

f(x).

)��$�#� f(xλ) = min
x∈X

f(x) ∀λ ∈ [0, 1]. D� �&$5 xλ ∈ X∗ ∀λ ∈ [0, 1].��+%�$�X∗��������
(" )�������7�#� %$� x0


 $�%�+ ���+�5��"� #���#�#+ f(.) �+ X, ��
x0 /∈ X∗.

D�"�+ &���&$���$ $�%�+ x1 ∈ X $+�+1� %$� f(x1) < f(x0).
 &�8

�� �������&$� X $�%�+ xλ ≡ λx1 + (1− λ)x0 ∈ X ∀λ ∈ [0, 1]. )�� λ ∈ (0, 1)�#��#

f(xλ) ≤ λf(x1) + (1 − λ)f(x0) < λf(x0) + (1 − λ)f(x0) = f(x0).
!(�(9"

D+� �+� � ��0�� ����&$��&$� Uε(x0)
�+���$&1 $�%�� ���+ xλ, λ ∈ (0, 1),$� !(�(9" ���$�����%�$ $�#�� %$� x0


 $�%�+ ���+�5��"� #���#�#+� ��+%�$���������7���� � $�#� %$� x0 /∈ X∗
��������

�D+��# �0�+6�#� ��1 ��������  ���!�� f(.) : X → R
#��7�&$�� X∗$�%�� �� "��0+�5��"� #���#�#+ &���+�+�$ & #��7�&$��# �� $�%�� ���+�5��"�

#���#�#+� )��$�#� � &��%+� �������,  ���!�� �#�&$� $��#���� �$�%�+
"��0+�5��"� #���#�#+�� �$�%�+ ���+�5��"� #���#�#+�0���# �&���56��+$5
$��#�� �$�%�+ #���#�#+��
���H��I ��� ���� f(.) ������ ������� �� X, �� ��������� �� �����

�������� X∗
������� �� ����� ��� �� �+��� ������

�
)�&$5 X∗

&�&$��$ 0���� %�# �6 ����� $�%��� + x0, x1

 ��� �+6��%���

$�%�� �6 X∗.
D�"�+ ∀λ ∈ (0, 1) : xλ ≡ (λx1 + (1 − λ)x0) ∈ X∗

� ∀λ ∈ (0, 1) :

f(xλ) < λf(x1) + (1 − λ)f(x0) = λ min
x∈X

f(x) + (1 − λ) min
x∈X

f(x) = min
x∈X

f(x),

%$� ���$�����%�$ ��������7���� x0, x1 ∈ X∗. �)��#�� ��&�����$� f(x) ≡ exp(x), x ∈ X ≡ R
���+6��+�$� %$� � &$��"�

��������  ���!�� #��7�&$�� $�%�� #���#�#+ X∗
#�7�$ 0�$5 ��&$�#�

���H��I �� !�������� ����� �������� �������� �������"� �����
x0 ∈ X. ���+�

{x0 ∈ X∗} ⇔ {∂f(x0)/∂` ≥ 0 ∀` ∈ K (x0, X)} . !(�(<"

� �#�	
��$��
��� )�&$5 x0 ∈ X∗
� ` ∈ K(x0, X). D�"�+ ��1 �&�, t > 0$+��,� %$� (x0 + t`) ∈ X, �#��#� f(x0 + t`) ≥ f(x0).

)��$�#� ∂f(x0)/∂` ≥ 0.

E�



��
� ���"�
��� )�&$5 x0 ∈ X $+���+� %$�

∂f(x0)/∂` ≥ 0 ∀` ∈ K(x0, X).

)�������7�#� %$� x0 /∈ X∗.
�$� �6�+%+�$ &���&$���+��� $�%�� x1 ∈ X $+����

%$� f(x1) < f(x0).
 &��� �������&$� X $�%�+ xλ ≡ λx1 + (1 − λ)x0 =

x0 + λ(x1 − x0) ∈ X ∀λ ∈ [0, 1].
 &��� �������&$� f (·) �#��#

f(xλ) ≤ λf(x1) + (1 − λ)f(x0) ≡ f(x0) + λ {f(x1) − f(x0)} ∀λ ∈ [0, 1]

�� &�����+$��5���
f(x0 + λ(x1 − x0)) − f(x0)

λ
≤ {f(x1) − f(x0)} ∀λ ∈ (0, 1]. !(�(?"

D+� �+� {f(x1) − f(x0)} < 0 � $� !(�(?" �6�+%+�$� %$� � ��6#�7��# ��1 X� $�%�� x0
�+��+������ ���$��+ ` = (x1 − x0)

����6����+1 ∂f(x0)/∂` < 0.)���%����� ���$�����%�� ���+6��+�$� %$� x0 ∈ X∗. �)�&$5 $����5� � ���������� � &�+6+���#� ��*��  ���!�1 f(.) ��  ����8!����#+ �+ #��7�&$�� X.D�"�+ ��1 ��0�"� ���$��+ ` ∈ K (x0, X) ����6���8�+1 ∂f(x0)/∂`, �%������� ����%�+ � �� #�7�� 6+��&+$5 � ����

∂f(x0)

∂`
≡ ∇f(x0) `. !(�(A"

����
G
�� !�������� ����� �������� +��������������� ��������
�������"� ����� f(.)

+�������������� � ������� �� X, � x0 ∈ X. ���+�
{x0 ∈ X∗} ⇔ {∇f(x0) (x − x0) ≥ 0 ∀x ∈ X} . !(�(B"

� �#�	
��$��
��� )�&$5 x0 ∈ X∗.
)���6���5��  ��&����# $�%�� x ∈ X,

x 6= x0.
 ��$�� ` ≡ (x − x0)

����+���7�$ ����&� K(x0, X) �� &�����+8$��5��� �� $����#� �9 ����6����+1 ∂f(x0)/∂` ≥ 0.
 &��� !(�(A" �#��#

∇f(x0) (x − x0) ≡ ∂f(x0)/∂` ≥ 0.
���0,���#�&$5 ���+6+�+�

��
� ���"�
��� )�&$5 ∀x ∈ X ��������� �&����� ∇f(x0) (x − x0) ≥ 0. �65#�# ��0�� ` ∈ K(x0, X). �&�� ` = 0n,
$� ∂f(x0)/∂` = 0. �&�� 7� ` 6= 0n,$� �016+$��5�� �+���$&1 $�%�+ x1 ∈ X, x1 6= x0

� %�&�� t > 0 $+���� %$�
x1 = x0 + t`, $� �&$5 ` = t−1(x1 − x0).

: ��#��5� !(�(A" ����%+�#

∂f(x0)

∂`
= ∇f(x0)

(

1

t
(x1 − x0)

)

=
1

t
∇f(x0) (x1 − x0) ≥ 0.

D+��# �0�+6�# ∂f(x0)/∂` ≥ 0 ∀` ∈ K (x0, X) � x0 ∈ X∗
�� $����#� �9�

���� !"#"$# ��� ��������$�� ��� �+��, 6�+%���1, �+�+#�$��� a, b, c ���!�1 f(x) ≡ (x1)2 + 2ax2x2 + b(x2)2 + c(x3)2, x ∈ R
3 :

�" �#��$ $�%8
�� #���#�#+ �

R
3;
(" �#��$ ����&$������ $�%�� #���#�#+ �

R
3.

E;



��� !"#"$# ��� )�&$5 X = R
2
+ ≡ {x ∈ R

2 : xi ≥ 0, i = 1, 2}, f(.) 
������+1 �+ X � ��  ����!����#+1 �+ X  ���!�1� x0 ∈ X. 4��+7�$��%$�� �" �&�� x1
0 > 0, x2

0 > 0, $� {x0 ∈ X∗} ⇔ {f ′
x1(x0) = 0, f ′

x2(x0) = 0};(" �&�� x1
0 = 0, x2

0 > 0, $� {x0 ∈ X∗} ⇔ {f ′
x1(x0) ≥ 0, f ′

x2(x0) = 0}; ." �&��
x0 = 02,

$� {x0 ∈ X∗} ⇔ {f ′
xi(x0) ≥ 0, i = 1, 2}.��� ���

� 
��J���� �J
�	��� 4�1  ���!��� ����������� �+ ����8

&$�# �"�+��%����# 6+#���$�# �
R

n #��7�&$��X, #��7�&$�� $�%�� "��0+�58��"� #���#�#+ X∗
����&$� !$����#+  ����*$�+&&+"� 	&����� �"�+��%����8

&$� X ��� �$�# &���&$������ =+� ���+6��+�$ ���#�� ��&�����$� f(x) ≡
exp(x), x ∈ X ≡ R, �+7� � ����������� &$��"� �������� �+ 6+#���$�# !���� �"�+��%����#" #��7�&$��  ���!�� #��7�&$�� X∗

$�%�� #���#�#+ #�8
7�$ ��+6+$5&1 ��&$�#� )���0��"� �� #�7�$ 0�$5 � $+� �+6��+�#�, &��5��
�������,  ���!��� �"�+���, �+7��� ���5 � $����� ��$�#�6+!���
)��7�� %�# �+$5 ����������� &��5�� ��������  ���!��� ��"�����#&1

� &�������# �0�6�+%����� ��1 &�##�$��%��, (n × n)8#+$��! A � B 0���#
��&+$5 A ≥ B, �&�� A−B ≥ 0.

 �6�� ��7� ��1 ���&$�$� 0���# &%�$+$5� %$�
X ⊂ R

n 
 �������� #��7�&$�� & ����&$�� ���$�����&$5�� 4�1 ���&$�$�
&�+%+�+ #� �+&&#�$��# ���1$�� &��5�� ��������  ���!��� �"�+��%��*�&5
��+&&�# C2(X) ��+7�� ���������� ��  ����!����#�, �+ X  ���!��� +
��$�# ���+7�# �+� �$� ���1$�� �+&���&$�+��$5 �+ 0���� *������ ��+&&�
 ���!���

������ +���+� ���������� +��������������5 ������������!�� f(.) ∈
C2(X) �+6���# &��5�� ��������  ���!��� �+ #��7�&$��X, �&�� &���&$���$%�&�� κ > 0 !�+6��+�#�� ���&$+�$�� &��5��� �������&$�  ���!�� f(.) �+
X " $+���� %$�

∇2f(x) ≥ κE ∀x ∈ X, !(�.C"
"�� E 
 �����%�+1 (n × n)8#+$��!+���� !"#"$# ��� �" 4��+7�$�� %$� &��������  ���!�� 1��1�$&1 &��58
�� �������#� �+ ��+6+���, #��7�&$�+, X : f(x) = x2, X = R; f(x) =
exp (x) , x ∈ R, X = R+; f(x) = ‖x‖2, X = R

n.
(" 4��+7�$�� %$�  ���!�1

f(x) = x4 �� 1��1�$&1 &��5�� �������� �+ X = R.
." )�&$5 A 
 &�##�$��%8

�+1 (n × n)8#+$��!+� 4��+7�$�� %$� ��+��+$�%�+1  ��#+ f(x) = (Ax, x),
x ∈ R

n 1��1�$&1 &��5�� ��������  ���!��� �+
R

n $�"�+ � $��5�� $�"�+�
��"�+ A > 0.=�+&& &��5�� �������,  ���!�� 1��1�$&1 �����+&&�# ��+&&+ &$��"� ��8
�����,  ���!���
���H��I ��� ������ �������� ������� �������� ������ ������������ !"#"$# ��� 4��+7�$� $����#� �<�
 +7��# 1��1�$&1 &�������� &���&$�� &��5�� �������,  ���!���
���H��I �1� ���� f (·) � ������ �������� ������� �� X, �� �4��� ��

��������� ������ Mf(c) ≡ {x ∈ X : f(x) ≤ c} ���������� �
R

n.

EE



� ��6 �"�+��%���1 �0���&$� 0���# &%�$+$5� %$� 0n ∈ X. �+&&#�$��# &�+8%+�+ &��%+� n = 1.
 �$�# &��%+�X 
 ���#�7�$�� �

R
� ��+7�� ����������

��  ����!����#��  ���!�� f (·) #�7�� ����&$+��$5 �+ ��# � ����

f(x) = f(0) + f ′(0)x +

x
∫

0

dt

t
∫

0

f ′′(ξ)dξ, x ∈ X. !(�.�"

	&����� &��5��� �������&$� f(.) �+ ���#�7�$�� X �6�+%+�$� %$� f ′′(x) ≥
κ > 0 ∀x ∈ X.

 #�&$� & !(�.�" �$� �+�$ ���+���&$��

f(x) ≥ g(x) ≡ f(0) + f ′(0)x + 2−1κx2, x ∈ X,

�6 ��$���"� &�����$� %$� Mf(c) ⊂ Mg(c) ∀c ∈ R.
 &��� �������&$�  ���8

!�� f(.) � g(.) #��7�&$�+ /�0�"+Mf(c)
� Mg(c)

�$� ���#�7�$��� �%�������
%$� ��� ��0�# c ∈ R

����+ ���#�7�$�+ Mg(c),
+ �#�&$� & ��� � ����+

Mf(c),
����%�+� 4���+ ���#�7�$�+ Mg(c)

������ �������1�$&1 ���  �!�8
��$+#� ��+��+$��"� $��,%���+ g(.) � 6�+%����# c, $� �&$5 ����%��+#� c, κ,
f(0), f ′(0). ����� $�"�� ����+Mg(c)

���������� 6+��&�$ �$ �$�, ����%��� $�
�&$5 &���&$���$ ���������+1  ���!�1 Ψ(., ., ., .) : R ×

◦
R+ × R × R → R$+�+1� %$�

{����+ Mg(c)} = Ψ(c, κ, f(0), f ′(0)).

��+%�$�
{����+ Mf(c)} ≤ Ψ(c, κ , f(0), f ′(0)). !(�.("

)������# � &��%+� n > 1 � �+ ��&����+� ����6���5�� ` ∈ R
n, ‖`‖ = 1,�+&&#�$��# &�%���� X0n,`.

 ����# �����  ���!�� Φ � ϕ  ��#��+#��

Φ(x) ≡ f(x), x ∈ X0n,`;
ϕ(t) ≡ [f ]0n,`(t), t ∈ A0n,`.

�&��� %$�Mf(c)∩X0n,` = MΦ(c). �%�������Φ(.) 
 &��5�� ������+1  ���!�1�+ X0n,`,
+ ��$�#� � ϕ(.) 
 &��5�� ������+1  ���!�1 �+ A0n,`,

���%�#�

ϕ ′′(t) =
(

∇2f(t`)`, `
)

≥ (κE`, `) = κ, t ∈ Aθn,`.
!(�.."

D+� �+� ‖`‖ = 1 � $�

{����+ MΦ(c)} = { ����+ Mϕ(c)} .

)��$�#�� � &��� !(�.(" � !(�.."� { ����+ MΦ(c)} ≤ Ψ(c, κ, ϕ(0), ϕ ′(0)). D+��+� ϕ(0) = f(0n), ϕ ′(0) = ∇f(0n)`,
$�

{����+ MΦ(c)} ≤ γ(c, κ) ≡ max
‖`‖=1

Ψ (c, κ, f(0n),∇f(0n)`) .

E>



:�����+$��5���Mf(c) ⊂ Uδ(0n)
��� δ = γ(c, κ). �D����5 #� #�7�# ���+6+$5 �&������ &���&$�� &��5�� �������,  ���!���

���H��I ��� ���� f(.) 
 ������ �������� ������� �� ��������� ���������� X ⊂ R
n, �� ��������� X∗

�� ����� �������� �� X �������
����� �� �+��� ������

�
D+� �+� �� $����#� �<  ���!�1 f(.) &$��"� ������+ �+ X, $� X∗&�&$��$ �� 0���� %�# �6 ����� $�%�� !$����#+ �3"� 4�&$+$�%�� ���+6+$5�

%$� X∗ 6= ∅.
 �0���# c ∈ R

$+�� %$� Mf(c) 6= ∅. D�"�+ {Mf(c)}∗ = X∗
�

���7�&$�� Mf(c)
�"�+��%��� !$����#+ �?" � 6+#���$� !f(.) ���������+ �+

X "� )� $����#�  ����*$�+&&+ {Mf(c)}∗ 6= ∅. ���� !"#"$# ��. )�&$5 f(.) ∈ C2(R
n). �6��&$�� !&#�� �+���#��� �3��:�3<."�%$� �&�� � $�%�� x0 ∈ R

n �#��# ∇f(x0) = {0, . . . , 0} , ∇2f(x0) > 0, $� x0



$�%�+ ���+�5��"� #���#�#+ f(.); $�%�� ���+�5��"� #���#�#+� ������$��8�1���� ��+6+���# �&����1#� �+6��+�$ ������7�����#�� 4��+7�$�� %$� �
����$���� ����&$��&$� ��0�� &���� ������7������ $�%�� #���#�#+  ���8
!�1 f(.) 1��1�$&1 &��5�� ��������  ���!����D����5 ���+7�#� �+� #�7�� �+&���&$�+��$5 ����������� &��5�� �����8
���  ���!�� �+ ��+&&� 0���� *������� %�# ��+&& ��+7�� ���������� �� 8
 ����!����#�,  ���!��� �+%��# & ��+&&+ ��  ����!����#�,  ���!��� +
��$�# �+&&#�$��# �0��� &��%+��

������ +��������������5 �������� )�&$5 f(.) 
 ����$��+1 ��  ����8!����#+1 �+ X  ���!�1�  ����# �0�6�+%���1�

g(κ; x, x0) ≡ f(x0) + ∇f(x0) (x − x0) + 2−1κ‖x − x0‖2, x, x0 ∈ X, κ > 0;
G(κ; x, x0) ≡ f(x)− g(κ; x, x0), x, x0 ∈ X, κ > 0.

�+#�$�#� %$� ��1 ��+7�� ���������� ��  ����!����#�� �+ X  ���!��
f(.) �&����� !(�.C" #�7�� 6+��&+$5 $+�7� � �����

∀x0 ∈ X : ∇2
xG(κ ; x, x0) ≥ 0, x ∈ X. !(�.3"

 &��� $����#� �� �&����� !(�.3" �����+���$�� �&������

∀x0 ∈ X  ���!�1 G(κ ; ., x0)
������+ �+ X. !(�.9"

 &��� �%����5 �&����� !(�.9" �����+���$�� �&�����

G(κ ; x, x0) ≥ 0, x, x0 ∈ X. !(�.<"
��� !"#"$# 	�� : ��#��5� $����#� �C ���+7�$�� %$� � &��%+� ��  �8

���!����#�� �+X  ���!�� f(.) �&����� !(�.9" �����+���$�� �&����� !(�.<"�
D+��# �0�+6�#� �&����� !(�.C"� �������1���� ���1$�� &��5��� �������8

&$� � ��+&&� ��+7�� ���������� ��  ����!����#�, �+X  ���!��� �����+8
���$�� � �$�# ��+&&�  ���!�� �&����� !(�.<" ���� %$� $� 7� &+#��� �&�����

f(x) ≥ f(x0) + ∇f(x0) (x − x0) + 2−1κ‖x − x0‖2, x, x0 ∈ X. !(�.?"

E�
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 y=
f(x 0

)+
f′ (x 0
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−x 0
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 y
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(κ
;x

,x 0
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 y=f(x) 

 y=g(κ;x,x
0
) 

 y=(κ/2)|x| 2
  y=(κ/2)|x−x 0

|2  

∀ x,x
0
: f(x)≥ g(κ;x,x

0
) 

 x 

 y 

 0 
���� �

D+� �+� � ��+&&�  ���!��� ��+7�� ���������� ��  ����!����#�, �+
#��7�&$�� X, �&����� !(�.C" �����+���$�� �� &����7+��#� �$���, ����68�����, �&����� !(�.?"� $� �+�$ &�������� ����������� &��5�� ��������
 ���!�� � ��+&&� ��  ����!����#�, �+X  ���!�������!�� f(.), ��  �8���!����#�� �+ #��7�&$�� X ⊂ R

n, �+6��+�$ &��5�� ��������  ���!����+ X, �&�� &���&$���$ κ > 0 $+���� %$� �#��$ #�&$� !(�.?"� �$� ������������������&$�����+�� ��1 n = 1 �+ ��&� (.���6�� ������� )�&$5 f(.) : X → R

 ����$��+1  ���!�1� )���7�#

σ (κ , x) ≡ f(x) − 2−1κ(Ex, x), x ∈ X, κ > 0.

�+#�$�#� %$� ��1 ��+7�� ���������� ��  ����!����#�� �+ X  ���!��
f(.) �&����� !(�.C" #�7�� 6+��&+$5 $+�7� � �����

∇2
xσ (κ, x) ≥ 0, x ∈ X,

+ $+� �+� ◦
X 6= ∅ � �$���� ����6������  ���!�� f (.) ���������� �+ X, $�� � ����

∇2
xσ (κ, x) ≥ 0, x ∈
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НАЧАЛА ВЫПУКЛОГО АНАЛИЗА.  

Часть 1.  

ВЫПУКЛЫЕ МНОЖЕСТВА  
 

Учебно-методическое пособие 
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